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101.

102.

Assertion (A) : Enjoyment of rights is conditional on the performance of duties.

" Reason (R) : The society cannot safeguard the individual’s interests unless the

individual fulfils his obligations to others

m Both (A) and (R) are true and (R) explains (A)

(B)  Both (A) and (R) are true (R) does not explain (A)

(C)  (A)is true but (R) is false '

(D) (A)is false but (R) is true

a.nml (A) ¢ e fewsmer oigefln@semg seanwsamar HlanpGeupmid ﬂug}g,mmé;@f_ul'_L@

sryenrd (R) © saflBum ST SLeowsaner ﬁmp@wmg)n'g, ul_&g,ﬁco sepabene safleLfer
BEEHET LUITFIENES @UITS

Q) Q) wpyd R) @rar@Guw #f (R) eremugy (A) elp@ sflwunar ellangan

@) A wppw R) @rarGCw &M (R) GTG'ETI_!Q[/ (A) apg sfwren eflangsiocen

(Q) (A) s gyemmad (R) seum

D) (A) seuny pammad (R) &f)

Which of the following statements is true?

L

11

&)

©)
D)

The Central Vigilance Commission was set up on the 1ecommendat10ns of the
Santhanarm, Committes :

The CVC is an independent body to investigate the cases of corruption involving
public servants of the Government of India

Iis true and II is false
I is true and II is also true
I and II are false

I1 1s true but I is false

&Gy QarPasiiul Rerer aursdwunisaild sfluraeme arg? !

L

IL

(A)
(B)
(©)
D)

wsHy  samsTariliy  yevewrid, shsrend Gupelear ufibgieriidr B UL udd
DEOWSHIVILL GI?

wHHu 5m5rrmﬂuv_| Spevemud Qurg et gmgp .glé)asmﬂa;aﬂm a_bu_a) aNeusnyrisenar
saTETa&EGID e &GwLSurear Bipeuiand .

I 2 aimanwn syamad I seugy

I wpge IT a;a%rmmgﬁskr

T wpgb IT geumy

I &ft gyamed [ goumy

27 ~ EOGT
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103. Match the article with what it deals

Article - ' Subjects
(a) Axticle-5 - 1.  Rights of citizenship of certain migrants to Pakistan
(b) Article—6 | _ 2. Citizenship at the commencement of the Constitution
(c) Article—7n 3.  Rights of citize-ns-h_ip of certain persons of Indian origin

residing outside India

(d) Article~8 4. Rights of citizenship of certain persons who have
" migrated to India from Pakistan - '

(a) (b) (© (d)

A 2 3 1 4
‘J’zl 4 1 3
€ 2 1 4 3
® 2 4 3 1

Yeeu(meuanauden D G I5Egs -

ald 2 GTETL&HLD
(a) &ﬂ@—S o 1. urfevsrgys@ Qb AuwipCsrilan uufawsar
(b) &HH-6 2. aqeﬁu@)mi&htﬂa&n Qgr_&s srasHed(dbs k. ufian
(c) &7 L 3. @pduredne QaueliG audlEs auBbd @BHL euibeT
- aifidienien @g.uflenio
(d) e94-8: - 4 undlevgrallelmps QpSurelne Gubudueaitseien -
@ wfen . '

(a) ®  © (d)

A 2 3 1 4
B) 2 4 1 3
C) 2 1 4 - 3
D) 2 4 3 1 -

EOGT , ' : ; .28 A




104. Match List I with List II, and find the correct answer with the help of codes given below

(a)
(b)

(c)
(d)

Ay

(B)
©)

? 3

List I
Article 44
Article 45

Article 46
Article 47

& ()

= QO A
[ I VI WV

| N SO g V)

[\

List 11
Provision for free and compulsory education for children

Promotion of educational and economic interests of SCs,
STs and other weaker sections :

Uniform civil code for citizens

Duty of the state to raise the level of nutrition and the
standard of living and to improve public health

plgwé [ o e uliguied Ilgu QuIBSS, UL LisEhsEE &Gg; B_GTer an@uﬂ@ﬁ@;ﬁ@ sflwiman

e ulevans Gsfey Qals.

(a)
(b)

©
(d

(A)
®B)
©
D)

uliguwied I

oif 44
o919 45
a4 46
oH 47

(a)
4

Htoww’;

3
1
3

(@

[\

NG VS NS

@

Lll_:_lq_u.!é.) II
BLhemsseT s M Gleeuss sdedl Qumeush e euleums

Qewwiul Hererg) - -

LI 16 @lamisai LD[bf{)lLB BeECETRe sdel LMD
S e g iy Plencaiu ChiuBggleug
Big&sEssEE Frrer o Aawulud paLpan

SEZIMTE STHDS 2 WITSFIBO, CUTIDEDE STEDT gu_xrrggg,eo
el Qurg) &mgm;g)mg Cubupsgeas S HLenid

105. In which year the official language bill was amended?

)
/o

1961
1967

(B) 1958 .
(D) 1966

THS a;:,aro‘r@ Sigieuas Al wCsrgr HmssiLlLg?

(A)
(®)

1961
1967

(B) 1958
D) 1966

29 | EOGT
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106. Match the following with suitable options

(2)
(b)
(c)
(d)

(A)
®)

o

®)

List T

G.V. Mavalankar

Sukumar sen

V. Narhari Rao

Sardar Vallabhai patel
@ B ©

3 1 4

1 2 3

3 4 1

4 3 2

o

List II
1.  First CAG of India
First Deputy Prime Minister of India
3.  First speaker of Lok Sabha

4. First Chief Election Commission of India

uliguidd IeQmpa vl iqwe s Qurmsss :

(a)
(by

©

@

A
B)
©

: )
EOGT

ulguie I

G.V. vreueiisit
B?@.LDITT-T Q&er

V. siranf yrel

argn auadeouml uGLé

@ & ©
3 1 4
1 | 2 3
3 4 1
4 3 2

uiguie IT

1. apsd @pAu pseramb samég wHb safsamaswner

2. g QpHu gmen GgsT
3. s @pHu wEsaTeneu FaaweuT

4. wsé QpdHu st CaTgd pamermiur
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107. Which one of the following phenomenon means “the formation of fertile botanic seed without
any fusion of male and female gametes”?

(A)lApom_ins (B) Apospory
(C)  Diplospory (D) Amphimixis

§Q&mLeubgydT “apam, Quanr GalSisalar @eeameldniod euemorar elesulenar o am M@0
vent]” arem a7 PG EDE? | _

(A) sGumiaden B)  GumevGurd

(C) @UCarmavGunl ” D) o RAGHev

108. Consider the-following statements and choose the correct answer from the options given
below : ‘ , .

I. Flowers of wild banana and cacti open at night and are pale in colour
II. Squirrels pollinate wild banana and cacti |
III. Wild banana and cacti are pollinated by bats

(A) His correct answer for I | )

(B) I and III are correct and I is wrong

(C) 1III and'lf are cor-reci, answer for 1

% I and HI are correct and II is wrong

Qar_(Hib JiMsmssmar o,Cordsg Spsarambd aﬂm;a;mﬂc&&grj,gj sRlwrer genenmg Camey Qais.

I euaeumelpy WwHML  gsarefl warsdT CeuErss ouaTERTSFEILET @refed  LE(HLIHELWITS
Sm&dlennar
11 SINDEET mmmﬁm@&@m. sarafig@Ld waNHS LTI serTEGD

[II.  euareurenyp wHED setefs Gaysafidr aicueurdaGar wWarBS LTUWseTTEW

EC Qarhissu_Bearer GHuiD &6 epabd sfwrer alle_emwus CoMpAFH &S

@) I oy L shuner uflare =
®) I wpmd I & wpmin I gam '
© I wpgid G lags shurer uBaneib
O  Lopgb I s wppe 1T geu

-\ 31 EOGT
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109. Match the following : -

List I
(a) Baking s'oda
(b) Washing soda
L (©) Pl:;ster of paris
@ Gypsum
@ ®  ©
A 1 2 3
B) 2 1 4
) 4 2 1
D) 4 3 2
Qursga :
auiflens [
(a) sewwd Gamm o i
)  swee GerLr oy
(©) QarmevLi ey urfled
@ e
@ ®» ©
' A 1 2 3
3B 2 1 4
© 4 2 1
D) 4 3 2
EOGT

List II

CaS0O,-1H,0
Na,CO, |
CaSO,-2H,0

NaHCO,

aufiens 11
CaSO, -1H,0 |
Na,CO,

CaSO, -2H,0

NaHCO,

32



110.

111.

Match List I with List I and choose the correct option :
List I ~ ListII ’

(a) Nehru Yojgar Yojana

(b) vRashfriya Mahila Kosh

Micro financing to poor women

Poverty alleviation programme

1
2

(¢) Indira Mahila Yojana 3. Social assistance programme for women
4

(d) National maternity
benefit scheme

Social empowerment of women

(a) (&) © @

(A 4 1 2 3
M 2 1 4 3
©) 2 4 3 1
D) 1 3 4 2

vl quied I o1 ar ulgwie Henans Quirgpsd sfwirar sllenemw CaipbsBdsayn

g uted I Ul guie IT
(@) Cp Crrevant Curgan 1. geny Quersesas, fn H1d o gof
()  greip Aoy oaflen Ganase 2. | jaupioie @i ditid|
() @pdrrwedler Gurmeant 3. GIQGW&;@&@ #@oa; 2 gl S b
d) GCsowwsiCupd b 4. Queanmsefler Feps Guobum

-

(a) (b) © @

A 4 1 2 3
B 2 1 4 3
© 2 4 3 1
O 1 3 4 2
Ninth plan targetted a growth rate of for industry.
(8) 9% y 8% © 1% N
pausreug HL LD QasmipgiampssTs meaussliul L euartés) eiph
A 9% ®B) 8% ©C) 7% D)
- 33

5%

LD

5%

EOGT
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112. Reason for privatization are
(A) inefficiency indifference and corruption
(B) indifference and corruption
(C)  inefficiency and indifference
y inefficiency, indifference, irresponsibility and corruption

saflwumTowbreusnHE &nqéwrwrra; @mungl

@)  foevwhp sapd wHmd Caumum_pHn

B)  GCeumium_po HOHILD 2eTLHEd

(C) Geugum_po wHmyd QurmiLhHo

D)  SHpewwdp, Caugium_Ho wHHYD e, AuryiiLHp

1138. Given the total invest expenditure an increase In the propensity to save will lead to a
(A) fallin the rate of interest w fall in income
‘(C) rise in the rate of interest (D) risein income

Qar@Réstiuc e Qurgs apagear Gsaeien syrefl Calliy sl L gher 2 wira] Béreumeaiaifdea arang

eflanenall g ? _ _
(A) ey &g eipsd (B) aumran afipsd
©) el eige sy VD chimes el

114. Types of ribosomes found in Eukaryotes are _
(A 708 (B) 80S (C) 608 - " (DY Both (A) and (B)

wCaNCuin_ev Qsasedled srawiu®n AGuMGsmbd eTeneu
(A 708 A (B) 80S
© €S @) (&) wpgd (B) @ranid

115. Beri-Beri, Rickeﬁs and Scurvy are deficiency diseases of vitamins

() ADC w® BDC
(C) BCD ' (D) DBA
Gulﬂ@l;lrﬂ, MN&GEL_6 HOHID evETell ———— avau L 1Olen GePUN_igamTed 2 T T@Ld ComiEET
(A) .ADC : (B) BDC
(C)y BCD : : . (D) DBA

EQGT | 34 _ A



Currents of Indian Ocean — Match

116.
Current number Current Name
(a) 1 1.  Agulhas current
by 1II 2. ' Australian current (west)
(e) 11 3. Madagascar current ‘
@ 1 4. Somali hcurreht
@ ® 0 @
(A) 1 4 3 2
B) 4 "3 1 2
C 2 4 1 3
D) 3 1 2 4 “
QS QuEpmisdiar FEHTLCE — QUinmsgs :
BCymL ereg ;ﬁ(‘érynL;L.,ﬁﬁeisr Quuwir
(@ I 1. sigere FCrmiiib
®) IL 2. @evdClur fCrrL (Cuohe)
(© I 3. wiandsi SCym L |
@ IV 4 Gomoned AT Lib
@ ® - - @
| Aa) 1 4 3 2
(B) 4 3 1 2
< - 2 4 1 3
D) 3 1 2 4
35 _ EOGT
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117. Which of the following pair is wrongly matched?

(A) , Magnetite -~
(B) Zirconium -
(C) Tungsten -

y Bauxite -

Karnataka
Kerala

Rajasthan
Nagaland

Yemeumeuareudmer eTHS @mm DTS QUITESSLILL_(HeTeng) ?

Q) CGuserenL_ -
B) ArGasrafubd -
(C) mevLér =
D) umdeev. -

118. Match the following :

Tributary
(@) ‘Jhelum
b) Kosi
(¢y Tungabhadra
(d) Manjra

(a) (b)

a) 4 2
4

4

1

~
e

W

1
€y 3°
D) 4

0 = N

: anapeuaTeudedn QuimBEEIsE -

ST D
(a) sBeid
(b) Caré
() smsLsyT
(d) omepgw

(2 (b)
A) 4
By 1
() 3
4

2
4
4
D) 1

N~ N

STHTLSLD
Gayerd
[ALGE Y
BTHTTBS
River
1. Indus
2. Krishna
3. Godawari
4, Ganga
(d)
1
3
2
3
. 2D
1. L2 YA
2. él@a'q;émrr ’
3. Cargmeuf
4, SRS
(@
1
.3
2
3

119. The number of years spent in jail by -Nelson Mandela

(A) 17 years 3

27 years (C) 28years (D)

QAparaar wanGLar Hapssraauie sL58 oL BI&ET

A) 17eamrisar  (B)
EOGT

27 auprvsar  (C) 28 au@Lusar (D)

36
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120.

121.

v

Name the first state in the nation to start a separate department of climate change to tackle

the issue of global warming
(A) Karnataka : G/'Gu;alat
(C) Maharastra ' - West Bengal
@pHurelier gl Qeulindlane wrHOWL wLHMIL Yel QeuliLiwrgame T CsTaTLENSHETS ey (1
safisgann Qwrflasdd wsapsars CompmelssiulL g
A)  sipTL&T _ B) ©Ggs
(C)  wsrrTaggHT D) Cwips QRISTETD
Match List I with List II correctly and select your correct answer using the codes given
below :

List S List I
(a) Lakshadweep 1. Chandigarh
(b) Tripura 2.  Ranchi
(¢) Haryana - 3. Agartala
(d) “Jharkand ‘4. Kavaratti

(a) (b) () (d)
A) 1 2 3 4
B) 8 '/ 1 4

4 -1 2
D)y 2 1 4 3
utigwed I-g ulgwe II-2 Lér Qurmgs ECyp Aar@asini_(Herer @gﬁuﬁ@émm& Qarau(y Ffuwman
aenevw CoTERsHEHaLD.
| L gy 1 ‘ uigwien IT
() Qalss ey 1. sarpa
(®)  Hfiygr 2. gugpél
(© epMwumeanm 3. sfgneom.
d) ggrigem 4. saurlig

(a) (b) © (d)
A 1 2 3 4
B 3 2 1 4
©C) 4 3 1 2
D 2 1 4 3

37 ' EOGT
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122.  Observe the series of figures given below. Draw the 5 and 6t figure of the series.

o WS O
‘ ? ?
e e S | “
1 (2) (3) 4) (5) (6)
W RS ®) RAES
= [ | = ol
(5) © ) ()
i " \ % W
(C) D)
' O - 7 O
(5) (6) (5) (6)
Epsaam_ Qsr_i LLfisaars seualidg), Seyeig LONWL 6 g @ Rsald aumb uLkamers Caiey
Qsls. .
g ¥ O
. | . 9 9
e ' @ s
(L) (2) 3 A (5) (6)
e || = =
(5) (6) _®G _ ®
W W ot )
(C) (D)
- C = __ .
(5) (6) G (6)

EOGT



123. Identify the odd man out.

@ ’< v (b),

(© _ , @ l _

Ay (@) (B) (b)

J" © | ’ @ @
@ ' ‘

UTOBESTS QUTUL Sa0gs Sair® Gy

(a) ‘ :\, . ®)
© - @ l .

@ (@ ®) (b)
© (© : @) (d)

A

124. Find the missing number :

51387
1092
180 | 24 | 20

@ . 4 ® 5 ©6 s

L —

- T R eraneraR & Eaa,

@ 4 ® s © 6 o3

A 39 : EOGT
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125. If A's income is 20% less than B's income, then how much percent is B's income more than

A's income

A 10% ®) 15% ©)  20% 7 25%

A Gla eupomend B @en eumnanggledr 20% Gevmaey erafled B Qe auponars A @er auLrsISams
el ersgemen sgeisn Hiflsd

) 10% (B) 15% (C) 20% D) 25%

126. The boys and girls in a village are in the ratio 3 : 2. If 10% of the boys and 25% of the girls
‘ are literates, find the percentage of students who are not literate :
(A)  80% W\ 84% ©)  72% @) 60%

o HrruiHd yanseT LHML Quarrsear 3 : 2 aarp dgsHd o rarant. @D Tl 0%
wHoIb Querseaiies 25% Lk sseuraar erafle Likliudley Geears wremmsfiufer sgeldlgin erener?
A) 80% (B) 84% ©C) 72% : D) 60%

127. The next diagram in the following is

= ]

e I

©) .

Genaim pL_rE\:a;aﬂéi) SDEF) QB

4] ] 3]

© |<t. | o |«

" EOGT | 40 _ ' A




128.

129.

130.

The H.C.F. of two numbers is 12. Which one of the following can never be their L.C.M.?
@»y 72 ‘ ®B) 36

LY

©) 48 | M 50

@uar® eramaafian BLGL®m Qurrg srrafl 12 erafld Weateu aaraafla erpg eramr sieupfler B&fmy

Quing) LL_RIETE @)\(HESTE?
A 72 ®B) 36

(C) 48 ®) 50

Ravi's salary was decreased by 50% and subsequently increased by 25%. How much percent

does he lose?

) 124% B) 20%

@/ 374,% : ®)  50%

refudlen sardlwb 50% ganpasIuL B Gerent o Languwing 25% awr‘r{é;guuu_ﬁb aggeman 55690450

Sieurt @IpHSTI?
B 12%% : B 20%
(C) 37%% D) 50%

]

A cy]jndfical tank of diaméter 28 cm is full of water. If 11 litres of water is drawn off, the
water level in the tank will drop by

w 1784 cm ' B) 11¥% cm
Cy- 10% cm | (D) 14 cm

S el b 28 cm y&s Qaranl @ 2 (mener euigeud o atar Qgm_guler gamenti Hyni9ulmESna.

@de 11 i gamefi QeuelCGuppiiniLmd Qsmiyuie sanaffer sietey adgman 2 wigb

E@PEAGEGL? :
(A) 17% cm ®B 11¥% cm
(C) 10% cm : D) 14cm

41 - EOGT
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547 5-47

131, Simplify

5—«/:/'-+5+'*f’7
@ 2 - T e 2
S o
5+ﬁ+5—ﬁ=9
5‘—5/7 5447 |
w % - ® 2 '
© = i oo o

132. How many dots are there on the dice face opposite to the three dots? -

(A;

ys | D) 6

Qar(ssnulBerar usa e, e yarallser Asrar esdne i wasde agsmar Larefisar

EOGT 42 | | A



133. If SPAIN is written as 68512 and FRANCE_I 1s written as 795243, thén AFRICA is written

as )
‘ﬁ 579145 ’ (B) 578915

(C) 579845 ‘ D) 579235 .
SPAIN-g 68512 crenoys, FRANCE-gp 795243 aranoyid erpdenmes, AFRICA-mau erasoumy
GT(PGOMD? :
(A) 579145. (B) 578915
(C) 579845 D) 579235

- 134. '_I‘he next figure in the following sequence .

Ot | & 7

(8) C% | | ‘gynlliiik 
° AwwupsestudymBerib)

dlaraumbd Qsm Mo SIBSFHTE auBD LLID?
w. [ QO - ®

(© := | ) (i:>
A - | 43 EOGT
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1é5. " Find out the famous pléces for silk in Tamil Nadu

I Siruvanthadu-and Arant

II.  Arani and Arubukkotai

III.  Thirubuvanum and Trichy

IV. Kanchipuram and Thirupuvanam

“w Tandl | B) IIandIII
G 1anav |  ©) Mandl
SUOMDBET_1g6d UL 2 pUFHS Qi mGib @ Lkiger

I - é\g@{_ﬁ;ﬂé wHOID < yenf ‘

IL  eypenfl wdmbd iELULECsST L

III.  ARyeuemb wHpd Smes

IV, sngéymb bomb SmLsuais

A Twopmbd I B) 1 whme 11T

© TwpgolV : D) I wpow I

136. The Novel Kaaval Kottam was written by
(A) Jeyamohan X (B) Imayam
(C) J.D.Kruz M Su. Venkatesan
Breudd “sreue Carleemu” erupdueuiT @eur .-_égba;tnr‘r
(A) QuIGwrsen B) @uowwb
(C). . Q.19 (BHE / D) &.Qm@a;@n_sskr ‘

EOGT | | 44



~137..

138.

Which among the following is a socio-economic problem in India?

L Economic disparity '

IL. Maoist menace

III. Cinema screening

IV.  Cricket match

W Tand1I (B) Il andII

(C) IVandl . (D) NIand IV

emeumeuaneu Hiled @BbHwiresier g seps Qummernsy rsFenen ergy?

I QumaTIENy GFHDHSSTDE

II. wrGeumudev SEF&DSH

oI, fafwr é]mgufﬂl._sb

IV.  &f&Qsl Cumliy

(@A) Twpgos II ®B) 1I whmb II

© IVopowl - O) HIwpgolV

Consider the statements :

Assertion (A) ' " According to’ Kyoto protocol many couriiries are making comrmtrnents to
lower green house gas emissions.

Reason (R): Concept of 'Green Chemistry’ was introduced in 1995.

Select your answer according to the coding schemes given below. ‘

(A) © (A) correct (R) ﬁrrong ' W Both (A) and (R) correct

. (C) (R) correct (A) wrong (D) (A) and (R) are wrong

S|paaanL ainsdumiseamend seua.

sapm (A : &yl CGln UG GLramed @UUBSLLY. LA BTREE GODHS LELLTEN
amywes Qeuaflelipn Corédle QuLGaral LweaLT oL @omnsa @uqa
QareT(hérenar.

amresrd  (R) 1 wseow Ceuulwe Qamerens 1995-@ o (paumsasliilL_g). _

&GQ-Q&.n@é&uuL’-@me GANIBser epad slwrer elleaw GCaipbshss

A) (A sl R) sap B) (A vppd (R) @ram@Cuo s

© ®) sft (A) say D) &) wpyo (R) seugy

45 ' EOGT
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139. Match the following :

(a) O'z_one day 1 December 1
(b) AIDS day 2 September 16
(¢) Population day 3. July 11
(d) Environment day 4 June 15
(a) ® . ( (d)

d 2 1 3 4
@B 1 2 3 4
© 2 1 4 3.
D)y 1 3 2 4
sfwrs QuTmsgs.

| (a) @Geren Bmen 1. g &FOUIT 1
(b) erav Brar 2. QelLibunlé
e :

(0) wEser Agrens HreT 3. greall |

(d) sDoEGYW Brer 4.  grenld
@ ®» © @

@ 2 1 3 4
@ 1 2 3 4
(C) 2 1 4 3
Oy 1 3 2 4

140.- - Which one of the following pairs is correect?

o

B)
©

®)

Nahor Katiya — Asom
‘Kalol — Rajasthan
Bassein — Madhyapradesh
Manabhum ~ Tripura

- Epsan_cuaneupnieT arbg Qeventaser sflwins AU eTarg)?

GV
®)
©
D)

EOGT

prafasHum — HGFmDd

 &iGamé ~ TGV STEN

GLflén — wHULATCED
wermGuimb — HMyym

46



141. The Widow Remarriage Act w;as passed during the Governor-Generalship of
(A) ~ Bentinck
(B) Dalhousie

w Canni.ng.

(D) Lawrence

eTh Seulemi Qg&moﬂaﬁ 2l A srasde edgmes LyaTE FL D QET&TE eupliu.Lg?
) . (A Quemgni

B) Laobapad

©  snafi

D) aergarev

142. Which is correctly matched among the following?

L Clty of New Delhi —  Designed by Gordan _

II. Udaipur palace - Designed by Edwin Lutyens and Sir Edward Baker
II. Victoria Memorial hall -~  J. Ransome

IV. Birla Mandir — Lord Curzop

@ 1 | S ® I

(C’ I . D) IV

Aereu@meuareupmer sAwTE QurmbEuereng) ergl?

L. U 196068 OMBSTD - Gami_ér eréuieugmed mq.cumme’sasﬂui'_l_g
I e piiyf sip@moenen - et e gymgemad wHmD & Gn_'_mr'rd Cusyme
QUi QUERLDES LI LG
o I jrnefle9&CLrflunBlemeneg ——J-yramentd - — — T _— —
LOGITL_LILD

IV.  Qirerwsdr . aremar (Gyy

@ 1 ® 1

© 1m D IV

A 47 ~+ EOGT
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143 Which Chief Minister brought free education upto PUC level?
L C.N. Anna Durai
II. Dr.JJd ayalalithé
III.  ‘Dr. M. Karunanidhi
IV. Rajaji »

M I o (B) I (C) I . DO IV
SBDBET 1 YGwes sved cuamy (PUC) @aeiss sal HLL1b Qsram® eubs (pseoeodam wimi?
L. C.N. oyerramrmgeny
II |_rrésL_r'rd;I. Gg@maﬂgn
1. Lréor @.s@mannhd
IV. grgngd
@ 1 ® I - © m O v

144. Which of the following terms dictated by the English in the treaty of Lahore 1846 on the
Sikhs is/are true?

I Ceding of the Jullunder doab and payment of 1 5 crore as indemnity to the British

II. Reduction 64 \Sikii/ af oy and-prohibition cfitsrulerl froml empld; ving and European
without prior consent of the British

III.  Appointment of a British resident Sir John Lawrence at Lahore -

IV. Removal of Rani Jindan as reagent.

A). I, Iland III ® II, 111 and IV
w Tand Il 4 ' (D) All of the above
£.19). 1846 wiib oiewT(H) QT 2 LG g S608 g, %meﬁ]&nu T&elT a;wnuuu@g@u_l STSHIGEET GTEE?

L gao;_r,grr GgmeurLy u@@mu_mm Guni @L,pul_ﬁ_@s Q,srrmsu_lrm; 1.5 Gsmg emumyb eupiis:
Couesm(Hid.

I &68uw el G MmUY Lé, |9;p BCrmiGwiseman ;f,lu_nﬂgg,rrm EECowfLb e Sigind
Qup Cara(Hib. .

M. orsafe s @ren enratens rHCowrser Bundgs @y uinisdant.
IV.  grefl Bibgen eips urgsmiy Qurglempg Sasliu L.

A L Hwpgon 11 @ II, I wppo IV
(©  Twopgd II D) Cuwle 2_GTGT DHEDRTSFILD

EOGT ' | 8 | A




145.

146.

When did Vasco da Gama arrive at Calicut?

(A) . 1471 AD.
(B) 1491 A.D.
@M 1498 AD.
(D) 1500A.D.

aumenCarLsmr aruGung sarafliECam_emLcnw albSmLBSmi?

®) 8.9 1471

B) &£.9. 1401
(C)  £.9.1498
@)  £.9.1500

Choose the correct answer from the codes given below.

Assertion (A) The imperial Cholas collected taxes called irai, deposited them in

Pantaram. Also called as Tevar pantaram, Sri bhandaram. .

Reason (R) ] Bicavseit-wes 4 place bt satety

(z( Assertion and Reason are correct
(B) Assertion and Reason are wrong -
©) Assertion alone 1s correct -

(D) Reason alone is correct

&G Qar®ésuul Gearer gRUG s mHs sflurear slmamwu CaibAsH.

smeg (A)- :  YGpare Gemprsdr e eram aufleny au@eadss Lar_nysdd Qoaisdent. seneu
' Geuit Lam_Trh, 1§ UaITL_TIb eTar SIaPaaUILL L g|.

gmjemd (R) ;| uawrLnrb ungamiurer @Lons Qmbss).

A)  s5mSZWL, sryawp &M
B)  sEgw s sHud
©) smszm wHw e
D)  srpemid i Hib sl h
49, ) EOGT
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147. Which of the following gases is most predominant in the sun?

(A) Lead W Hydrogen
(C)  Silicon . ' (D) Oxygen

Spsan apg aunysaer GAualla W@dHurs sreariu@ng?

@) arhub - Y anirigen

©C) HAdsarer (D)  a8lgmen

148. Which feature of the Indian Constitution is referred to-as “Magna Carta” of-the Indian
people? .

(A)  Directive principles of state policy
(B) Fundamental duties

w Fundamental rights

(D) Independent judiciary

@y onflued stsagdear s ugdHow QeHu  wéseafer “Cuogerm  &mi_n”  erenmy
GO UG ADET '

Q)  erflud anfsmy Apdlaser

B) Sl sLcwad

©) Sglue 2 fewssr

D) . sppHronen fssin

149. The official language of Nagaland is
(A) Naga o (B) Urdu
(©)  Hindi G English

BISTHET PIeuas Q‘mrrgél
&) ’ BT - " B ems
(O @ (ahisd) @) spudan
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150. Match the followings :

- (a)
(b)
(c)
(@D

w?
(B)
©
(D)

Bleneuauaneupenp QLTSS -

(@)
(b)
(©
(d)

List I

RBI

SIDBI .
Co-operative Bank
DFT

(8)
4
1
4
1

) ©
1

o W W CAD@

3
2
4

wguie I
RBI

SIDBI

s (hmey eurd
DFT

() (b) ©

(A)
(B)
(©)
(D)

4 3

1
4 3
1

Wb DR R W
=

Wi s DS A
. st '

List II

Loan for industrial development

Agriculture and rural development
Monetary policy
Small Scale Industries (8SI)

v iguied IT

Qgmfled @.mﬁé@&@ EL_ET QUL S
Cauarremanio wHmd Armhus eueriss)
et QETaTens

élg;] QAsmfled Hlgyeuans

151. Arrange the members of the solar system in descending order

L
II.
II1.
IV.
(A)

Planets
Comet
Meteors
Asteriods
I IT, IV, IIL

W Lo

®) 1, I, IV, II
O LI IV

G&Mw war e o grniearramer @phiE aflasule HBEEGS

L
IL.
IIL.
Iv.
GV
©

Caneraar

QuTed BLESHTRISET °

arfil BLsSSlrmser
Ay Caneraer

I, 11, IV, 11T
LIV, II, III

® LI IV,II
©) I ILIIL IV

51 : EOGT
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152. The importance of the Constitution (Ninety ﬁ}th) Amendment Act 2010 is
W Extend the SCs and STs Reserv-atioﬁ bhill
(B) Newly formed state of Chhatisgarh
“(C) VReservation for the socially backward

(D) Reservation for the educationally backward

95-augy SITAILGD SieoliL) Hmss 51U 20106 (pEHwsgeud

@) HBorei i wpmd LphELlaBssTa QL GHEER Sr iy
B spPevaifiu oo o i '

©)  sposdd Qapaduaisesie QL peséd

D) sl Qengriduanserss @ @H&60

153. Assertion (A) Pheromones are chemical messages secreted by insects.

Reason (R) : It induces a behavioural reaction or developmental process among

) individuals of the same species. )
m Both (A) and (R) are true and (R) is the con;ect explanation of (A)
(B)  Both (A) and (R) are true but (R) is not a correct explanation of (A)
(C) (A) i1s true but (R) is false
- (D)  (A) is false but (R) is true

sapg (A) : LyCurenser LFélsenmed sTEsLUGL @rerue sead uhwrhasr.

srgamd (R) : Qeova o Qeamsale pLims dmasd sdwgs 955 Qe o ulflarisaion G
aueTr&d Flapeysamens gram{Hib. '

@ (A wpgi R) @ram@id shiuraee. (R), (Aeflen sfurar eflersad

B) (A oomi R) Graneib shumaea. (R), (A)fidr shuiar sflaisid oiden
('C). (A) sflwnang) (R) seupreng

D) (A) paupneng. (R) sfrang

EOGT 52 A



154. ‘Mach 9.6, specification about a rocket bmplies that it
(A) produces sound of frequency 9.6 Hertz
(B) produces.sound of intensity 9.6 decibels
(C)  travels with the speed of 9.6 kilo metre per second
I(D) travels with the §peed 9.6 tumes the speed of sound

(6 T&EQ&Ligemerls I_!;T:)'@U_l. ‘Co& 9.6 eremm @gﬁ]ﬁnq QsNuluBsgeug g
(A 96 @anfiav erenm SiPTQeucr Qarar,. ellenw & (HeUTESLD .
(B) 9.6 QLé@ue ergyid Q&;;S]m QsrarTL. @elleny 2 (HeUTHGED

©) gmaamgbe 9.6 AGwmBL L argyw HamaCassCar® LwallE@En -
D) gaulen Qmé@m«sgﬁmé 9.6 wiLkE HosCaasd e Lwamlé@

155. Which holds oxygen in the atmosphere and not in gpace?
(A) Inter malecular attraction (BY - Gravitational pull of the earth
(C)  Magnetic field of the earth (D) Solar radiations

2y Serdlggen e Slar@aafiude @aemoe euafiwearm _asHd siembws Qeiiag
(A) 'Qp@e%.w.g)lsaﬂml_'uﬁlemm RO L (BY - LyidQaw euimiy ellens

(C) ydler srHgLiLew D) @ENws sdiaiFaser

156. Choose the incorrect statement

(A) In elastic collision, the relative velocity of the two bodies has the same magnitude
before and after the collision

(B)  The reciprocal of bulk modulus is called compressibility
(C) - Pressure has the same unit of stress
y Moment of inertia is independent. of the choice of the axis.

seupTen mpeps CoipASH o |
(A)  BLA Gursdlld Q@ Gurmisefien sy HmsCasd Cuorsgiés e wpgb Wer
HeasCausnisaiiean arar LHALEDHE swwLTE B)[HESD
B) umwsHas Caussar senadp WHLIL DIAPHS GTET G
©) (PSS LHOID HOGEET S&eN6T FOLTETEHE
D) feawsgdriudper Gaia QaiuiuBL sFfean QUITNSSSHE
A - s | EOGT
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157. Match List I with List IT and select the correct answer by using the codes given below the
Lists : - ' o
List I (form of Govt) o List IT (Essentials)

(a) Cabinet Govt. 1. Separation of powers
(b) Presidential Govt. 2. Collective responsibility
(c) Federal Govt. 3. Concentration of powers
(d) Unitary Govt. 4. Division of powers
5. Administrative law

@ ® © @
A) 3 4 2 1
B) 2 1 4 3
© 3 4 1 2
D) 4 3 2 5 .

aflens 1 2 e cuflens avanl Qur@psd euflansaserss S Gardsasliu’ Berer QsTEnempa)
sflwran ellenL_@emeng AsMey Qalis.

auflens I auflang 11
(SiTETRISESSlen cuens) © (SiglienLger)

(a) srhen. BgsThRISD 1. 2famrl Ahedteaner
(b) Eywrss g,ma)mfr

P PUAGTEI <4 J&TRIALD . F L hY Qoingiy
() &l 8 ogemasd "8, SifsrrEeiliiy
@ gdopum £ sysrmsnd 4. SiHany udlirey

5. Flfeurs s 1 1b

(a) () (© (d

(A) 3 4 2 1
®) 2 1 4 3 :
©) 3 4 1 2
@) 4 3 2 5

158. The 42 Constitutional Amendment Act was enacted in the year
(A) 1947 ®) 1950

(C) 1963 .}\ 1976

42-augy sirfluemwiy msse b Qubpli Har®H
(A) 1947 (B) 1950
() 1963 - ' ~ (D) 1976

EOGT ' .54 A



159

160.

Consider the following statement and choose correct answer from the options given below.

The maximum amount of protein, carbohydrate, fat, ash and water content in the matured
anther occur in the following ratio :

Protein — carbohydrate — fat — ash — water

The correct ratiois : o v
(A)  Protein > carbohydrate > fat > ash > water

(B)  Protein > carbohydrate < fat > ash > water

M Protein < carbohydrate > fat > ash < water

(D)  Protein < carbohydrate < fat > ash > water

Qgmmd sifsmsmu HCordlgs Spasrann elamseflal@®bg sfluren patamns Caiey Gla.
SPaslLigurar Lrsh, wrey s&f. G.ssrr@uq; smbue, B @gmrranmw WPHTES W&THESSSHd
Spasrgnb dllarésnysHa G HEED

LysLd — wreyFss) — Asmpiy — srbud — i

G’Iﬂu_IITGM efdlgwreug :

(A)  yrsb > wreyssd > Qarupiy > FRHLG > B

(B)  yysb > waeyssH < Qarepliy > srbud > B

(C) yrsb SWINFES > Qarping > gnsle<Sr

D) yrsbd < wreyssd < Qampury > FmbL > B

Assertion (A) : Silver is known as a noble metal.

Reason (R) . Silver has a poor chemical activity.

AA) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B)  Both (A) and (R) are true and (R) is not the correct explanation of (A)
(C)  (A)is true but (R) 1s false
M)  (A)is false but (R) is true

& om (A) o Qeuerafl erarugy) 2wl 2 Carsid.
sryamd (R) . Qeudrell Bis @ennps eflenerui(Mib Himen Qsram_gy
A) (A whgbd (R) @ream@in &fl. Cuogud (R) aeanig (A) ellb@ efluner sllarssn
B) (A wogw (R) &M. Gugubd (R) erenug (A) eSih@ sfwnen ederdsiode
(C)  (A) sfl yewmad (R) seupy
D) (&) souy apanned (R) of
55 : EOGT
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161. Effect of insulin on carbohydrate metabolism are
L Increased rate of carbohydrate metabolism
IL. Decreased blood glucose concentration
III.  Increased glycogen store in the tissue

ﬁ All the statements are correct
(B)  All the statements are wrong
(C) Statements'] and Il are correct
(D)  Statements II and III are correct

wreLELIT(HET euaTTdlang WTHDHEH @) arsadeilan sTEED ety
L wreyUGummeT suantflens LIDHOSNS BH1H&N&EE WL

II. Qrss GErsCaray Hmmens G@DEESL

. flsssefle daatsrdgear Gellumn o@slsswn

(A)  edor smsgEEnED Swunareney

B) e smEGHIBEHD gspraTameu

€ T womw Il gw smse sfluraama
(D) 1T womw 11T gb smss shuraame

162. Which of the following statements about nitrogen is false?
I It is a colourless, odourless and tasteless gas
II.  Itisonly slightly soluble in wateyr
III.  Magnesiuin ritbon deesnot-burn in-a jar of nitrogen
A Tonly - . (BY TandIl
‘(? ITT only (D) 1T and III

Spssam. mpnsaile mplymear LuHH GeupTarg 6rg?
L @g HDWLOHD. WERTLHD LHIID SFEPEILINH T
JL Qg SR Geaneuns seordns
I evplyger eumy e arer gGeeuude Qusatun prr Suund erflung

(A) Twl@Eo B) Iopmgoll
(€ I wl@w D) 1l wogo I

163.  Which of the folowing i3 a organo phosphate, used as an insecticide?

(A) DDT (B) Allethrin
(C) Gammexane m Malathion
Spaa_eneusaied sfloLmeyCLL. Qaneim LESEQanrad erg?

(A) DDT B) seQagMen
(C)  srorsGaven D) wresgwuren

EOGT 56



164.

165.

166.

Gross Domestic Product at factor cost plus net factor income from abvoad 15 known as

(A)
®)

D)

Net National Product at factor income

National Product — Depreciation

Gross National Product at factor cost &
None of the above

sryenfly Qaawe] DigluenLude Qworss gerr{_r,m.@ @_@ugﬁ + Qeueflpmiigdy @mhg eumd Smyemnf]

SU(HLDITENLD BNenLPESLILI (Heug)

(&)
®B)
(C)
)

sryenfl cugponet s liuanulewrer ey Csfu o puss

Codw 2 HusH — Coiomand

amyenfly Qeaey Big L@ Warea Qwrss Cﬁ;_r;gu_l 2 HusH -
Copgmflin eTgia|d 26

The Mahalanobis strategy of planning was essentially

,A)

(C)
D)

to achieve self-sustained long-term growth via investment in heavy sector
to achieve short-term, growth via investment in small scale industries

to achieve quick growth in services sector '

none of the above .

waGHEMAuNen B\ 160y a8 £ (W ESN1TE VS enicti L SUn H.E

(A)
®)
©
)

The basic objective of Gandhian model was

4)
B)

w

@)

sengiennaafled WaSE epernrs suwrs HaoBlnssliul L Bam_ sra eeriséflaw srdiug
AmiQgmhldvgafids FHLMD EPOSEID APOWTE G DHS ST GUATTEH anw 5rrﬁuugj
Caaneu giewmaeflev giflg euatiaflens sTdiuig

CopamPlul eTgiayb B

to raise the educational standard
to raise the social standard
to raise the material as well as cultural level

none of the above

arpdl wrdfuler g liumL @nHsGsanar

(&)
B)
(©)
D)

&G FIHES 2 LITHFISE0

FPSTL SISDS 2 ITS515

QUTmBET LHYID SOTFFTY STHOS 2 WITESISE
Cdaadul Tgia|b Bieve

57 ' EOGT
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167. Asscrtion (A): During the financial year 2011-12 the Central Government is not likely to
achieve the target of raising 40,000 crores through disinvestment policy.

Reason (R) : Policy of increased public borrowings to bridge the fiscal gap 1s justified.
In the context of the above two statements which one is correct from the given?
w Both (A) and (R) are correct but (R) is not the correct explanation of (A)
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(C) (R) is correct but (A) is incorrect
(D)  (A) is correct but (R) is incorrect

‘genflay (A)  :2011-12-g  HHwrasigdr wFHL  sTETRSSHG  GapEsLLLL  APSSL(H

Garatenswne, afl(Hbu S@&bs Gasams . 40,000 Gamg e Bien_wulweesiaene.

sy (R)  : sifsfdsiuL Qurgissiar Gamdes fid QUbaueiaw  soau@sseumns
HuraiuHEE60 ENTaTONS.

CuCas AarssliLLHearer @5s @ram() eursdwmad ahs eunrsSwn sflurang?

Q) @Qran®Cn shwrerg. pemed | srasdnE  GetdssLULL  aledsd  geleyss

QUTBSSLOTETZ) S -

B) @Qraa®Cw sM. s eunsdwsHneE QurmSswreng @Ta@TLTD euTsHwbD

(C)  argpewd aursHwd &M, genred gewfley auradwin fwide

D) gafey curedwd R syeid sTTa@TD UTEHLID FRWO

168. Consider the following statements :

Assertion (A) : The\Zollsion! bf continzacal ard beealod bidtes resuit the mountain ranges
encircling the Pacific Ocean.

~ Reason (R) :The intense pressure due to compressional forces cause the depositions on
the marginal continental to uplift to form fold mountains along the Pacific

coast
A Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are individually true; but (R) is not correct explanation of (A)
(C)  (A) is true but (R) is false
(D) (A) is false but (R) is true

Eparanb aursdunsmens smHeHo Qarers :

sadmy (A) D us9E QuEGRSLEF &DMHIWETET LELEET SMITL HMIL &L SL NS 2 Jagadanme
FOUBSSLILL L.

argend (R)  : sipsE Dewslean srmpeoons $e0l7 Si(pssd gpul (), sam_smsaiar @rrgafld
o der  Uleyser 2 WISSLULD, il weesd UGG  QuEmmsLCaomid
2 @TL_MESULL(heTeng). ’

(A (A) vpmn R) @rar(HGw &M, Cugib (R) g (A)-e9beE slwrer efetasid

B) (A wpmb R) @rar@b st gyeanra (R) eranug) (A)—aﬂgb@ FRwuraT eNarE&LO66

©) (A sfl yema (R) seupy

D)  (A) seun syarmed (R) &M
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169.  Which soil type i1s represented in the shaded part of the given India map?

L Black soul

II.  Redsod

II.  Alluwial soil

IV.  Desert soil

A ar oo ) I (C 1V D) I

Qesrhésuulerar  @ifwun  quarusHar A UL uEdld ahs eumswnar Lo

srewsriuphEmng) 7
I sfl56 weir
II. Qsbwerr

111,  euem_é wamr
IV.  ureneveuar et

: C 1T ’
A Ay I B) 1 59() v (D) EOGT
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170.  When did Doordarshan was first started? “
1959

(&) 1939 (B) 1949 (D) 1969
paepsila giigragean eriCUINg SleumsluL L g?

(A) 1939 By 1949 (C) 1959 (D) 1969

171. Match Last [ with Last Il correctly and select your answer using the codes given below :
List ] List IT

(a) Sarva Shiksha Abbiyan (SSA) 1. 1995
(b) Right to Education (RTE) 2. 1961 ’
(c) National Council for Teacher Education (NCTE) 3. 2001
(d) National Council of Educational Research and
Training INCERT) , 4. 2002
(a) (®) (c) (d)
A) 3 41 2
®) 1 4 3 o
(C) 2 3 4 1
M) 4 3 2 1
Ltgwe I-g ulgwe -2 Lear Qur@ss £Cyp Casm@ssuul @ar GhulGsmans Qarar® sflwran
cllanL_enwig GCarbQAHE.
Ul iguwied I ulwe II
(a) &res Segadlw wmmes 1. 1995 '
(b)Y soal o Meswnée o 211 18961
(¢ NCTE 3. 2001
(d) NCERT 4. 2002
(2) (b) (c) (d)
(A) -3 4 - 1 2
® 1 4 3 2
(C) 2 3 4 1
D) 4 3 2 1

172. Indira Gandhi Peace Prize award for 2012 was awarded to
(A) _ Ella Bhatt (India)
Ellen Johnson Sirleaf (President of Liberia)
(C)  Sheikh Hasina (Bangladesh)
(D) Waugari Maathai (Kenya)
2012-& @iy s158 Siewwd LAs Qaursafleds wrmEE sefsasluCL_g"?
(A) eQe um (@rduwm)
(B) eaGaar grensan sralus (QQUALITeNen spamrdLid)
(C) Cags apflenm (LRGTTCHAS)
D)  eunaf wrgd (Qsamum)
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173.

174.

175.

Which of the following is/are correctly matched with regard to Indian zonal railways and
their headquarters? '

(a) Central - Mumbai

(b) Western ~ Jaipur

(c) Eastern - - Jabalpur

(d) Northern - New Del}hi '

(A) () and (b) only (B) (d) only

& (a) and (d) only (D) (c)only

@i @ruiaGer WLETLDRGET — BUFET FOODD APOIWSHEEHT HSLEFTET G MGET
Sy linanLude, Wetteumeueeu Hm&T areney sRlwmal QUTmSSLILL(HeTeren?
(1) wsHw @ruilerGeu - (peru

(=) Cuhewvear e @ridleoGes -  GmulgT

(@) Huse var_e QuuilaGeas -  puyl

(FF)  euL & warTla @ruiewCen - gy Qe

(A (=) pmio () 0B ' (B) () w @B

©) (=) dpd () L B @) (@) vl

Recently in 2013, how many percent of NLC shares did the Central Government propose to
sell? '

M‘ 5% @) 10%
© 8% : D) 12%

sbLsSe 2013-1b yamiqd arsgener ssailflg NLC ukigseer elns b Sirs wpyQeu(Bss8)°?
(A) 5% (B) 10%
) 8% D) 12%

Which one of the following is incorrectly matched?

" (A) Sputnik - Russia
& Bhaskara:l -  China
(C)  Explorer - America
(D) Aryabhatta - India

Spsaareunne erg efural Qummbsallanay?

(A) evylefs - gafum

(B) uravsym-I ~ Fanr

(C)  era&avyGerni - AN EY: 305
(D) SpAwul L - @pdum

61 EOGT
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176. 15 matches make the figure shown here, what is the figure obtained after removing 3
matches to make 3 squares with the same size, 5o that the remaining squares are still

connected”?

(A) . (B) 1 I i

P i R

15 Sa@adgentay )\ 2yBSmuu) i Bartidsons Hliens. e pemm @éasmen Bé&fleney, F0
DeradreT aparm 500 Harss Gauam®n. Bsipdear sgyrmsa Gsmimy GQgream smi sieww

Ceua(d erafed, HanL&@w euanLLLd wimgy”?

|
I

(A) — | B) —

© o © | ]
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177.

178.

The 100 term of the sequence 5,7, 9,11,13-- 1s

203 (B) 201
(C) 205 @) 207
5,7,9,11, 13+ arénp Ggriiaufiensudier 100 wpeug o iy -
(A) 203 ' ®) 201
© 205 | D 207

Yearly Profit of The Company XYZ

=

%,

\\\\‘}\‘:
.

(z in Lakhs)

.

\ \I\\\

30 - \
20 A
13: %

2006 2006 2007 2008

Year

Change in profit from 2005 to 2006 is

Decreased by 16 % % (B) Decreased by 20% '

(C) Decreased by 10% _ (D) Increased by 20%

XYZ eranp HipeuansSen ,eim® @b

.
§

90

80

T0

[T — -
50 N\

(7 oL sgHe)

NN

2005 - 2006 2007 2008

<pe ()

2005 2o Qmbsl 2006 aw® euepwran Georusdlen rHDHD

(A  16% % Gopbes B)  20% Geoppss
© 10% goppss . D) 20% aHsNs58

.63
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1 2 10 7

179. 3 4 7 5 6 8 2| 5 3 1 3 3
, 5 9 ? 1
The missing number is .
N - By 7
¢ 5 ‘ D) 38
7

1 2 10

3 4 7 b 6 8 2 5 3 1 3 3

5 -9 ? i
NHuL L erasmenesT &ewT(hLdhg

@ 9 ® 7
© 5 ™ 3

180. If A and B, working together, can finish a work in 6 days and B alone can complete the work
in 10 days, then A working alone, can complete the work in

(A) 14 days : (B) 18 days
(C) 12 days % 15 days

A wppd B Gimelish GélEg, | Chievaidon B grikaflss abkuuir] B wl@w sefurs
sieuGauanaens 10 prlsafidy apyssmed, 2GS Cauamaraw A wl.(Hb gaﬂu_urra; Qsig) Wy &5 TS

Q&meTghDd B SeT ' .
(A) 14 pmisen (B) 18prlaer
(C) 12 prisar (D) 15 priser

181. The L.C.M. of 2 numbers is 45 times their H.C.F. If one of the numbers 1s 125 and the sum
of H.C.F. and L.C.M. is 1150. Fmd the other number

(A) 200 oM 235

(C) 125 - (D) 150

@udﬁr@ aamsafien 8&8gy Qung LB e BUELm Qurg srperfiluden 45 LLRETS o_eTaTg. Q@b
eretr 125 oy e eneng wpmbd Ssély Qg LDl_DiJ@ BUGums Qurg eswuamﬁuﬁ]m (s 1150-eremm
GBSO HBDT(H GTRT eTemerT?

A) 200 _ (B) 225

(G 125 M) 150
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182.

188.

184.

Rama can finish a work in 18 days and Radha can finish a. work in 15 days. Radha wqued

for 10 days and left the job. In how many days Rama can finish the remaining work?

A 4 . _ ®B) 10
© 8 M

e® Caumaeamw mor 18 prlaadd Qaig apyliumt. iGs Coumemwu rrsr 15 pr_seid Gadg
il 10 priser grst Ceueme Qeiig o0 efladl el L. Bsapetar Geuanaani T TEF@an

rr_r-,m‘_a.;'aﬁ‘k;i) Qg (plglumm?
4 4 _ . B 10
© 8 D) 6

The ratio of the income of A and B is 5 : 4 and the ratio of their expenditure 15 3: 2. At the
end of the year each saves Rs.1,000. Find the income of A '

(A) Rs:2,000 @M Rs. 2,500
(C) Rs. 1,000 ®) Rs. 1,500

A opmb B aénicuifsn eardis a9, 55 4. 3)eufimoT Glaaysen o"ﬁ;‘ﬂfa:‘c 3: 2. yamqen @ndule
pauGeummeaimd m. 1,000 Cealsfprisar. A e aadunb eraan?
@A) . 2,000 (B) 5. 2,500
(€C) . 1,000 ' D e 1,500

Find the next number in the following sequence

17, 35, 69,139, 277

(A) 544 K 555

(C) 3855 . D) 364

Yereumid Qgmeuflensuden <iB&s eraw ﬂaﬁm?
17, 35, 69, 139, 277
(A) 544 | . ®) 555
(C) 355 ' - (D) 364
65 ' ' EOGT
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185. What will be the dlfference between simple and compound interest on a sum of Rs 8,000 put
* for 2 years at 5% per annum?

@A 5. ®) 10, o 20 D 40

5% auly aizgfld @Qran( ardsEsssl oG, 0.8,000 wsdl (s QsrassEs éﬂmu};@m
- pefleuliy LODIL sl B auly Ly sefar eligHursn wirg?

A 5 (B) 10 : (C) 20 (D) 40

186. Based on the relation between the first two figures, ﬁnd the fourth figure. .

@ , . | ®)
© WW.UD LA /<7\

W&o @rarr® L rusEnsSor Cuwirer Qgmimfear sigUnumiuid, edGHuL. LD wrg?

A | ®)
© | o
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187. Raju purchased a Maruti Car 3 years Ago\for Rs.2 lakh. Its value depreciated each year at

the rate of 25% p.a. What is the present value of the car?
(A)  Rs. 83,475/-
(B) Rs. 2,83,475/-

J) Rs. 84,375/-

(D) Rs. 87,435/

grR®, @ LIHS cuamgufenart, 3 ATHGEREE paratma 5.2 L &b WHINDG curmdarTr. e
wHLL pan(éE 25% aipsfumpss aalled, @b wrmE euaiiuldn g{j)@urr_mg)uj L;gﬂuq crenen?
(A) . 83,475/- | ’

- (B) . 2.83.475/-
€)' ¢ 84,375/

D) @ 87.435/-

188? Which one of the following pair is not correctly matched?
(A) Kugla,nkulam — Minor port. |
(j3) Thoothukudi ~ Major port
w Crocodile — Maxilla not-moveable |

(D) Veins — No valves

N O -GTQS)QJ FRLITS Qun@ggﬁlul_aﬂebc;nm?
A)  smEend — Ablus Feopapsd | |
B sssses - Ui gepwss
©C)y wsome - Gméjgrfmu Siensaigldana
D)  Aengset — cumdayser @evanead

A 61 ~ EOGT
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189 The new BSF brand Ambassador is

w Virat Kohli

(B) Saéhin Tendulkar
(C) M.S. Dhoni
- (D) Yuvaraj Singh

y$Hw BSF ellembury gagir wmi?
A) &Syl Camamed

B) s58en ALanBost

_(C) M.S. Carefl

D) wyeuprs A

190. . Which of the following is mass media technology?
L Bill boards

II. Website

III. Blogs

IV.  Pamphlet

(&) 1, 1II and III ®) IIand III
(€) T and IV @n A

1Qaeu(meuene HIYET Lormed g uim Qgmfléy HI LD 67g)?
I &embug uewansser

II. - Gearwugend

II1.  Qemréen ' T

IV. gan( Qeeflui

@A) LI wpgo T B) Il wpguelll
©) HI wpmblV (D) DS EID

EOGT ' _ 68



191. In 2013, the Champion's Trophy was won by India. Select the place where those matches

were held
(A)  South Africa
B) India

(C) England
m West Indies

2013 g@LQuQD smbowen Gsrlemuwlena @pHlu e QeupHEAuPDE. SLGUM Y BL5S
Go/pre |

(A) Qger ylifiasn

®)  @pduwn

gC) Arflenbg

D) Cope @pHus feyasn

" 192. Which one of tﬁe_ following pairs is incorrect?
(A) Uralis — Kerala
B) Abors - Asom
w Ao — Tamil Nadu

(D) Lepchas — Sikkim

SpsaLalamauHIieT THS @) eHaRIEET FeUDTETEmE ?
A)  egmed _ Cayarm

B  &Cuni~ 2Gsmbd

© - @Car-pdpsH

)] Qmu‘;ndu - Sl&&hd

A | 69 EOGT
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193. 'Who was the author of 'Strangers in India'?

V Penderel Moon

B). A.O. Hume
(C) Romain Rolland

(D) Wellington .

'‘Strangers in India' eremp grenev erpdlweui wimm?
(A  Guérc e apsn
B) g afyd

(C) GorQuén Grmevetery_

D) .  Qeouedki_axn

194.  Which of the following ‘was not-a featureof G{ofc::;m.ent’ ¢tIndia-Acc'0f'19357
(A) Provincial Autonomy
(3) All India}ederatiori
(C) " Dyarchy at the centre
v Dyarchy at the provinces
Epsam_cuppier g 1935 b gyan® QbHu Sigs 5L SH s Gldanar?
(A‘) wrble Fur_& |
B) @asdbHu s m g
(©) . wsHudd Qo e wm 4
(D.) wrflagsha @y amiwm’ &
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195. Match the following : Choose your answer using the codes given below

(a) Maduwrai Shanmukhavadivu 1. ° The Nijinsky of India
Subbulakshmi
(b) Mungara Yamini Krishna Murthy 2.  The Padma Vibhushan
: (c)' Bissano Ram Gopal 3. The Bharat Ratna
(d) Tanjore Balasaraswati 4. The Padma Shree and The Padma
Bhushan '
codes

() (b) (© (d)

(A) 4 2 3 1
B) 2 3 4 1
P 3 1 2
M 1 - 2 3 4

Qemeumeuanaupenill ‘Quinmegs’ &Sy Garhsstu(hearer Gergllladlmbg o fisar e awus

Gsfley Calis.
(a) wgT EFTPHEYa| HIL 6L 1. 5 fldeanasd o0 @BHwr
®)  pasty wndef HmeagearepTsd 2. usw ey age
©) QarGenmr ymbd Garuma 3. Unyg &6
(d)  BErETRLT UTOEFEVEIE 4. LSLOLI LHMmILD LSO, ePET
GIMCETY
(a) (b (0) (d)
Ay 4 2 3 1
(B) 2 3 4 1
) 3 4 1 2
Oy 1 2 3 4
A 71 - EOGT
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196. Who were the 1eade1s with whom Lord Mount Batten held discussions of two nations apart
from Jawaharlal Nehru?

(A)  Sardar Patel and Mr. Menon
(B)  Mr. Jinnah and Sardar Patel
Wh Gandhiji and Mr. Jinnah
(D)  Mr. Motilal Nehru and Mr. Patel
Querarm_ Cucenr Sgy @@msri®h Pl gdaar meuaniewrd Crmeney sedly @euns@hLgnLd
sabgTGanflgsmm
(A)  srsnt ULCLe wHHY H(H. Cweres
B)  Hm. Herenm wpmbd srear LLGLe
(C)  spd) wombd Hm. Henann
D)  Hm. Cordemea Cup wHpmb Hm. ulCLe

197.  According Buddhist records, the Deccan region was called as
(A) Brahmarshi Desa
(B) Madhya Desa
W Dakshina patha
(D) Purvadesa
Quergs snanmsellamun., saaTamUUGSH QeueuTm SMPESIULLE|
(A)  Amburredl Badih
B)  wsHw Cssw
(C)  saflemr ugn
D) yieu Caanr

198. ‘Niyoga’ does not mean one of the six darsanas (Philosophies) of Ancient India. What else
does it mean?

(A)  Self-immolation by widow

(B) Polygamy

(C) A kind of physical exercise

M Cohabitation of a widow with one of her deceased husband’s blother

‘BowrsEd’  eeamme LaTenw QbHurelar Ynemss SEEEUBISD RETHOE®. HLILIGWTETER
FCwrsr eretug aganans &MaSng)?

(A)  elgames 2 Lens L Cumged

(B)  vasTr LT

C)  e@dsnra o Lpuulins

(D)  sameuar @nps Ger SAeuaig sCETFTAMIL T QITDEDS BLSHISD
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199. The Sarvodaya Day is observed on
(A) 2rd October

w 30t January

(C) 19 November

‘D)  21% May

“arCGeurgwim famd” HgysMsamiu@LD Hrer
(A)  &CLmuir 2 gyb preT

B) mereuf 30 =yb Baar

(C)  meubui™ 19 b mrreT

(D) Gw 21 wmprer

200. Match the List I with List IT and choose the correct answer from the codes given below
List I List I1
(a) Rahnumal Mazdayasnan Sabha Gopala Krishna Gokhale

1.

(b) Symbol of the Swadeshi movement 2. Dadabhai Naoroji
(¢) Diamond of India 3. Lala Lajpat Rai
(d) Sher-e-Punjab 4. Charkha

(2) ) (c) @
(A) 2 1 4 3
@M 3 1 4 2
G 3 4 1 2
®) 1 2 3 4
ulgquwed 1 2rer uliywe II ewer Quamsgs. §Cp Qar@asliulBater GMHIHSET ped Fflumen
aflevLepw CsTEREHES :
(a)  gTEHOTED LOGVL IGETEN el 1.  Garure Hmeger GamaCea

(b) &Cz8 Quissden e wnearéflanand 2. srgrumi seuGyTed

(@) rwwer’ U @BHur 3. ereregud pms
(d) Qegfr-@-LiEHETL » 4.  #&&TL
(a) (b) (©) (d)
(A 2 1 4 3
B) 3 1 4 2
(C) 3 4 1 2
D) 1 2 3 4
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